EARAROBEEIERT — 2 N— IBISH —F

20145F9A5H (£) 7m)IIB1H

R EEEXY

214 1757 E3007AKH

‘ [R1%] & ‘ [REBE] — | & (&) 15000 B

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Sy 4 3 | HlRThiA 1:37.3 2-2-2-1 |#1.3| — 10 | 417 | RB2 (&)
B ¢ FIBEEES 54.0 (=) (5 | B TrREN
v —NFAYF— B:T7—1)— [/ S e ]
= . i 3 | BOLH 1:37.4 13-13-12-11{ 40.2 | — 12 | 436 |fEEEEZ (1)
2|5/6| 771774 => 54.0 (172 Co | REET
L:T7YA4FALINN B:A9E8—<547 RS
N FoAd—1it . _10-7— - HigEss (/1)
N . NEEEE¥ i 3 AP 1(73{:;5 12-12-7-7 | 41.0 9 (434) EEEP%%
L:TUHA XTI K B:LAY—/N—XX skl
S 4 3 | sk :37.5 11-11-11-10{ 40.9 | — 7 462 | ERARIZ (1)
sy o | FUY—L1—-Xt 54.0 (NF) ) | Fu-—nz—7
x> dAnqO— B:RU—LLA K- Y]
S 4 3 | FEEBE 1:38.2 7-7-8-8 |41.8| — 1 442 | NKREE (J11#)
51813 AHhA K—%2— 54.0 (3) +1) wmemn (B)
RNTLRATH—L BO—HLIXLF— = BX
- S Ll Bt £ :38. -9-9- . — AEBEE (115)
61507/ 75vva51> "8 e | T M e
RTANRTy Y2 BiLA1I1> HET7— L
S - - SEmfE— . —4-5- - ZAB— (I1g)
7lglio| =217 25 i 3 o 1(/3&;)2 5-4-5-5 | 42.0 2 (4_735) ¥”a‘“§§
Z:arrFady b BivARAAT EvJdLy RT77—L4
5 . i 3 | EBAH 1:38.5 6-5-2-3 |42.5| — 3 480 |BAE— (1)
87|10 ¥ TR E TS S5 (1 1/2) @) | TEER
R:TIWTFNTL2 B:TAILA—H> FEEERIS
5 43 | REAR 1:38.6 1-1-1-1 | 42.8| — 5 462 | SAREX (1)
oWl s Fr—LnH-n 54.0 (1/2) @) | LB FET 7 —h
R:T7T2743IVF— BNLINRTI HET7— L
T BEmA .38, (i ] _ NAREE (1)
10 3 REJHHo 4 3 o 1(33/84)8 10-10-6-6 | 42.4 1 a:g;; e
LHI5TLIFr N BT T7IF— N 4505
. . HTEEZ . 30— — gk — (1)
11 9| X777 bhTa—o i\ (11319/5 e |48 o (i?é) =ARE
AT M AT —F— K BTALLEFUY RS
= N 1ERETEAT : -8-9- — IWEE (1)
ol 1| ¥=1F577—% 4 3 s 1.(45(>).1 9-8-9-12 | 43.6 8 <4+o75) ]
R4 Tg4 K B:dy RKESTRI— HREt All%E
N R (ELE3UN . —-6-13- — SAE— (1)
131711 AT Yy 4 3 o5 1.(492).0 4-6-13-13 | 44.6 13 34) ;:‘%%7‘%
R:TITRAFTEN Bov A= TTF4AX FREHRS
® I—F—@EBIERL
15l=2F= 5,8,9,11,12,10,13,7,1,3,2,4,6
Ao=5"= 5,8,9,12,10,11,13,1,7,3,2,4,6
G=7"= 5,(8,9,10),12,3,4,13,(1,7),2,6,11
43—+ — (5,8),10,9,12,3,4,13,7,2,6,1,11
[ RN
B 8 2,800/ 794K 6-8 4,620 & 5-6 2,440M &R 4-6-8 92,300/
# B 8 810H 4-8 8,740 B 6-5 4,740H EE 8-6-4 520,550
6 910/ 4-6 3,730 B = 6-8 26,990
4 690/ BB 8-6 57,810

ABICOVWTRDTEEERROODE. TR LIV,



